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_Fentry__ (=( OWORD =)&argc, argu, env

monstartupl); M EAE, vBhig
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vl = Getinput(): . . .

o5 = 0; St =S ard piva

fFor { i = 8; 1 <= 31; ++i )
{
ul = us ® ug * byte 4BNB20[i]:
if ( kuh {= Bx40u || vi > BxS5Au) && vb ¥= 05 && oL = 123 && vy t= 126 b
{ EEIR T - I 2
puts(“Errorin’); vAeE ADmEOx40<v4 <=0x5a or v4==95o0r 123 or 125
exit{1);
i N s
byte 408040[1] = uk; T =i EiEF Abyte 408040838
uS "= byte LO4O20Til:
v = 1; signed fint i; // [sp-16h] [bp-16h]@1
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|result = is begin with{byte 408048, start)

if ( result )

p \ HRHET AT BREHFLAGH
result = {unsigned __int8)byte_L4O885F ;
if ( byte_4B8@5F == 125 )

{
result = puts(“Congratulationst*\nflag is:");
fFor { | = 05 | <= 31; ++j ) — B a5 s i)
result = putchar(byte 468840[]); IEsR=iER&EE408040, smiiflag
H
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return result;
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is_begin_ with & i iX 2 & AIFLAG{FF k: start: IAEN T E:

.data:0000000000404620 db BE1h, 61h, BABh, BCBH,
.data:0000000000404620 db 5, Z6h
.data:6000000000404040

.data:00000000004046408 start db 'FLAG{",@ |
.data:0000000000404045 align Z@h
.data:0000000000404660 p_73208 dq offset quord_4B3830
.data:0000000000404660 :
.data:0000000000404068 alian 18h
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>>> from z3 import *
>>> x = Int('x")
>>>y = Int('y")

>>> solve(x+y==4)

[y =0, x = 4]

BABMNRM T — DR Txry==480#, TTIRIMERNTEEx=3E?

>>> solve(x==3,x+y==4)
[y =1, x = 3]

HRT, BREEMKIEE AR AR BREE, Fln:

>>> from z3 import *

>>> x = Real('x")

>>> y = Real('y")

>>> solve(x**2 + y**2 == 3, x**3 == 2)
[x = 1.2599210498?, y = -1.1885280594?]
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vl = 9@;
gets(flag);
for (i =0; i <= 35; ++i )
{
if ( !flag[i] )
{
flag[i] = 1;
++vl;
}
}
if (vl l=9)
exit(o);
convert(a);
Transposition(a);
Multi(a, b);
for ((j =0; j<=5; ++j )

{
for ( k = 0; k <= 5; ++k )
{
if ( c[@][k + 6 * j] != d[@][k + 6 * j] )
exit(o);
}
}

printf("congratulations!you have gottern the flag!");
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#coding:utf-8
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@Version: 1.0
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from z3 import *



import time
tl = time.time()
#HEAIE — MR YTT R
solver = Solver()
#flagkE LR E N36, AHEEFHIM
flag = [Int('flagkd'%i) for i in range(36)]
#IRFEFlaghsE g
a = [i for i in flag]
#ORTFFFlagh i B
b =[i for i in range(36)]
#RTFa* b JERE
c = [0 for i in range(36)]
#HEH IEflaghliz g 31
d = [0x12027,0x0F296,0x0OBFOE,0x0D84C,0x91D8,0x297,
OxOF296,0x0D830,0x0A326,0x0B010,0x7627,0x230,
OxOBFOE,0x0A326,0x8FEB,0x879D, 0x70C3,0x1BD,
0x0D84C,0x0B010,0x879D, 0x0BORD, OX6EAF , OX1F7,
0x91D8,0x7627,0x70C3,0x6EAF , 0x9BDC, Ox15C,
0x297,0x230,0x1BD,0x1F7,0x15C,0x6]
#HRFam B
for i in range(6):
for j in range(6):
b[i+6*j] = a[6*i+]]
#zHa*b
for i in range(6):
for j in range(6):
for k in range(6):
c[j+6*1] = c[j+6*i] + a[6*i+k]*b[6*k+]]
#RMLR, EHiflaghizHE R

solver.add(simplify(c[j+6*i]) == d[j+6*i])



HRINZAR, BT R, flagfFERF—EET REFEEN
for i in range(6,36-10):
solver.add(flag[i]>=32)
solver.add(flag[i]<=127)
HIINZR, BT flaghtk, AI6fi—E Awhctf{
for i in range(6):
solver.add(flag[i] == ord('whctf{'[1]))
HININZIR, flaghBH N1
for i in range(36-9,36):
solver.add(flag[i] == ox1)
HEMAR, flaghiBa— N HER}
solver.add(flag[-10] == ord('}"))
#HIXBE—FEE, AcheckMiELRE
if solver.check() == sat:

m = solver.model()

w0
n

(]

HRBER

for i in range(36):

s.append(m[flag[i]].as_long())

#irtHflag

print(bytes(s))

else:

print('error')

t2 = time.time()

print(t2-t1)
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from z3 import *

def gen():
print ('[*]Computing key...")
a = [OxA4, Ox19, Ox04, Ox82, OX7E, Ox85, 0x50, OxA8, OxD1, OXEA,
OXE3, OxF9, OXE8, OxEl, Ox60, Ox3A, Ox1A, OxOA, Ox87, OxDD,
OXE1l, Ox61, OxAQ, OxCO, Ox60, OxA4, Ox48, Ox28, Ox16, OxOB,
0x05, 0x20]
num = BitVec('x', 64)#numisfEALiEideals

s = Solver()#E XizH 2%
s.add(num >= 2 ** 31)#HFEINLIR KM
s.add(num < 2 ** 32)
num2 = 0
b =20
for i in range(32):
if i < 5:
s.add((a[num2] ~ (num & Oxff) ~ b) & Oxff == ord("FLAG{"[1i]))#ZIR LAl JLAL 9 & %
elif 5 <=1 < 31:
s.add(0or( #Or
And((a[num2] ~ (num & Oxff) ~ b) & Oxff <= ord("Z"),#EHEAE“@’ 2”28 And
(a[num2] ~ (num & Oxff) ~ b) & Oxff >= ord("A")),
(a[num2] ~ (num & OxFff) ~ b) & Oxff == ord("_")))#REZJEHN“ ”

else:
s.add((a[num2] ~ (num & Oxff) ~ b) & Oxff == ord("}"))

b = a[num2]
b &= oxff
num2 += 1
num >>= 1
if s.check() == sat:#BRWETHM B Nsat
a = s.model() #K%ERRAa
print (a)
return
print ('[*]No Result ,end')

gen()
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